S HE RN AE SE 30 OB

UG T

28181 A = AR (SE2URIN)

™

N T tzw/ﬁél



ME, ZERtAABCYH, ZC
=90° , HBLAAFER,

L AKX A5 R4 K L RE
ZHhE, W, HAbAZ
A KT EE R B A E 1 e ?
NA?

HABAARKDFER, LARPBBERARIH. ZAKXH2E5BLHIE
o Rl RmER, BRI LARERAERA R Y LARIRTZ (cosine) ,
ieffcosd, B ZARIARA b

cos A = \
FR S| c
LA A S54RA K LY it L AR IEY] (tangent) , icfEtand, Bf
LAKINIA  a
ZAWARD b
BAARIEZ . K% IEVIERMLARI S A=A R

tan A =



3
an ﬁﬂ@, ERtAABCEIJ, LC=90° , BC=6, SinA:g : zk

cosA. tanBHJ1H. it
i BC
f#d: " sin A =——
AB 6
cCAB = BC :6)(2210 -
sin A 3 A C

X AC=~AB*—BC* =10 -6 =8

.‘.COSA:£:£, tanB:AC:4
55 BC | 3




Lm "é;?\- :‘g‘ s
L AR THEA=AFT RN SHARNIEZE. KRIZXEMIETE.

W AR EE 2
BC = AB* — AC? =/13? —12? =5 3
.'.SiﬂAIﬁ:i B 13
AB 13
cosA:£:2
AB 13 | AT 12
SB[ T+
BC 5 AB 13
AC | 12 cos Bl 1 L -~
AB 13
AR YA AN




2. ERIAABCH, WRZAKET K265, HRARAARIETZE . K
SZAEMIEVIERH 4310 ?

fB: WEIGEKSHHNa by ¢; LABWIEANA=ARES RN
a b a B

smA=—,cosAd=—,tan A =—
C C

Wy~ RK24&fa =i #N2a. 2b 2c

sinAzza:a L 4
2T
B
cosA=2b:b
2Cl 1 ¢
tanAzza:a
Pb+— b c o A




3
3. &, FERtAABCY, £C=90° , AC=S8, tanA=Z,

X: sind. cosBHI{H.

BC 3 r
. (tand=——=—
s AC 4
AC =8 0
C 8
BC %AC:§x8:6

. AB=AC*+BC? =8 +62 =10

. BC 6 3
S.SIn A= == —
AB 10 5

BC 6

cos B = =é
5

AB 10




